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QUESTION 1

What file would you use if you wanted to modify the Authentication Security of an application? 

A. adfc-config.xml 

B. faces-config.xml 

C. jazn-data.xml 

D. web.xml 

E. weblogic.xml 

Correct Answer: DE 

Explanation: 

There are two logical answers to this question. Kindly take note. 

Reference: 

http://blog.whitehorses.nl/2010/02/01/weblogic-web-application-container-security-part-2-adf- security/(searh for
web.xml) 

 

QUESTION 2

Which three statements are true about ADF Business Component declarative validation? 

A. An entity object attribute can have more than one validation rule. 

B. Declarative validation can also be defined on a view object to override the entity object level validation. 

C. For an entity object level validation rule, you can define which attributes will trigger the validation rule. 

D. If your application is to be deployed in three different languages, then a separate validation rule is required for each
language to handle the different translated error messages. 

E. You can define a declarative validation rule to call a Java method. 

Correct Answer: ACE 

Reference: http://docs.oracle.com/cd/E16162_01/web.1112/e16182/bcrules.htm#sm0241 

 

QUESTION 3

In an HR replication you want to add validation using Groovy language. The validation is defined on the salary attribute.
It needs to ensure that if an employee\\'s job is not that of a salesman\\'s then the new value of the salary must be
greater than 500 or greater than zero. What is the Groovy expression you use? 

A. ( Job "SALESMAN" ? newValue > 500 : newValue > 0) 
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B. (job != "SALESMAN" ? currentValue > 500 : currentValue > 0) 

C. (job !="SALESMAN" : newValue > 500 ? newValue > 0) 

D. (job !=\\'SALESMAN\\' ? newValue > 500 : newValue > 0) 

E. (job != "SALESMAN" ? newValue > 500 : newValue > 0) 

Correct Answer: E 

Reference: 

http://www.oracle.com/technetwork/developer-tools/jdev/introduction-to-groovy- 128837.pdf(page 12) 

 

QUESTION 4

You have a page containing all the Department items. It also includes a button to save the changes. What is the correct
expression language value you should have for the Action Listener Property? 

A. #{!bindings.Commit.execute) 

B. # {bindings. Commit.current Row} 

C. #{bindings.Commit.execute} 

D. #{bindings- Save.execute} 

E. # {bindings. Comnit. immediate} 

Correct Answer: C 

Reference: http://books.google.com.pk/books?id=TyLqw6i6BtYCandpg=PA432andlpg=PA432anddq=acti on+listener+pr
operty+%23%7Bbindings.Commit.execute%7Dandsource=blandots=PEDtbGuOmandsig=k38P4oDp1oiQzDYKFlF7ncz
AE1Aandhl=enandei=GmjBTtn5GsPKsgaCw8CeAwands
a=Xandoi=book_resultandct=resultandresnum=5andved=0CDgQ6AEwBA#v=onepageandqandf=false 

 

QUESTION 5

What would you enclose an EL expression in so that it is evaluated immediately when a page is rendered? 

A. and {} 

B. # {} 

C. $ {} 

D. % {} 

E. @ {} 

Correct Answer: C 

Reference: http://books.zkoss.org/wiki/ZK_Developer\\'s_Reference/UI_Composing/ZUML/EL_Expr essions 
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QUESTION 6

How can you augment each entity object in an application so that a logging method is called after each create ()
method? 

A. Overridethe create () method of the ApplicationModuleimp1 to implement the logging. 

B. Override the create () method of each EntityDefimp1 to implement the logging 

C. Set the jbo.loglevel and jbo.logoutput configuration parameters in the bc4j.xcfg file 

D. Override the createEntity () method of each Entityimp1 to implement the logging 

E. Override the create () method of a base Entityimp1 class and extend the class for each entity in the application 

Correct Answer: B 

 

 

QUESTION 7

Which type of object is being described here? "They handle events or some manipulation of data that is best handled at
the front end. They are bash ally java classes with a no arg constructor that you register with the application in task flow
files." 

A. Task flows 

B. Event listeners 

C. Action methods 

D. Managed beans 

E. Contextual events 

F. Backing beans 

Correct Answer: D 

Reference: 

http://docs.oracle.com/cd/E12839_01/web.1111/b31973/gs_jdev.htm(topic 2.6, second paragraph) 

 

QUESTION 8

What type of executable would you use to link to detail collection for nested objects? 

A. Iterator 

B. AccessorIterator 
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C. VariableIterator 

D. InvokeAction 

Correct Answer: B 

Reference: 

http://groundside.com/resources/DuncanMills/S298736_bindings.pdf(page 16, please count from top. No page numbers
available) 

 

QUESTION 9

You want to convert a default set of business components for Departments into service interface. Which two
components would you use to do this? 

A. Application module, entity object 

B. Entity object, associations 

C. Entity object, view object 

D. Application module, view object 

E. View object, view links 

Correct Answer: A 

Reference: 

http://docs.oracle.com/cd/E12839_01/web.1111/b31974/bcextservices.htm(topic 11.3; second paragraph) 

 

QUESTION 10

What three statements are correct about task flow control flows? 

A. A control flow would typically be initiated from a button or link that is being clicked. 

B. A view activity can be the source for many control flow rules. 

C. A Control flow can exist between a view activity and a method call. 

D. The definition of control flows for a page are stored in the page backing bean. 

E. The name of a control flow must match the name of the view activity to which it navigates. 

Correct Answer: ACE 

 

QUESTION 11

Identify two advantages that ADF Model offers the developer. 
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A. It insulates the developer from needing to know about the specifics of the underlying business services
implementation. 

B. It enables the developer to abstract application navigation from the physical pages. 

C. It saves time In that it allows the developer to quickly build business services from database tables. 

D. It enables the developer to bind UI components directly to tables and columns in the database. 

E. It provides the developer with a generalized approach to binding services and UI components. 

Correct Answer: AE 

Reference: http://www.oracle.com/technetwork/developer-tools/adf/adf-11-overview-1-129504.pdf(page 7 and 8) 

 

QUESTION 12

Identify two advantages of adding a service method to an application module. 

A. It can be implemented in the application module\\'s Def class allowing greater flexibility. 

B. It is useful for performing operations across view objects. 

C. Its code can be dependent only on a specific view. 

D. It can be called by the client, requiring very little data manipulation. 

E. It does not require publishing to allow a client to access the methods. 

Correct Answer: BD 

Reference: http://download.oracle.com/docs/cd/E12839_01/web.1111/b31974/bcservices.htm#sm0206 
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